141

Complements for On the convergence
of Stochastic Integrals

T. SHINTANI*
(Received January 31, 1983)

1) In the proof of theorem (p. 172), of course, it may be supposed that an L2 martingale £ is
an L= martingale. In fact, by the similar method to lemma 1 (p. 171), for L? martingale f and ¢

> 0 there is a uniformly bounded L* martingale f® such that || #(s) — F©(s) [, < € (0 < s< ¢)
when p> 1.

Let 6% : = %} V(tmu) = dO(tme), d(tms) = [ O(tmas1) = F(tmn).
The proof of theorem shows that when m— oo 84 converges in L2
Here recall that On: = 3 v(tma) d(tne), d(tma):= f(tman1) = f(me).

Let p=2 then

”!'inrp“ | 6m — 6nl2< lim 2- | 6 — 6% |- +,,1,,i,Tm [ 65— 6.

=2-lim [[6n— 6% .+ 0

Mmoo

£2-lim c-| %} [d(tme) — d© (tne)] 2 (¢ > 0 is constant)

M-co

=2c- ()= fA .
<2c-¢e for all €>0.

2) Let 1< p <2 then by the same method to above 1)

”lin@w | 6n — Galp<2ce forall &>0 (c>0 is constant).
3) Let p>2.

Ell 01?1 <co- ENfIP 1< o0,  ENORX 1P 1< ch- El FOIPI< K
(cp > 0,cp> 0 are constant. K > 0 is also constant since f‘© is uniformly bounded.) As 6%
converges in L% 4% converges in L'

Since  EV*[| 6% — 64 17 ] = (| 6% — 65| 20-1)%""/2

KO Nzp-1 + | 05 25-1)"" /2 (2p—1>1)
<2y IOl 2-1)7 2
< K’ (K’ >0 is constant),
Ell 6% — 6?1 = E[| 6 — 652 +| 6% — 652 |7-7]
< EM[ 65 — 021 -EV2[| 65 — 652 |*7)
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K -E™[0% - 6°|]— 0 as m, n— oo,
So, by the same method to 1), lm| 8n — 8] = 0.
mn-co
4) Let p = 1. From the proof for p = 2 (p.172), 6% converges a. e. Let |/ — /9| < &?

P’(nlriln sup | @m — 0| > 3 ¢€)

S
K2+ P(sup | 2 v(tm) [d(tms) — dO(tmi)] | > €)
+ P’(nli[n sup| 8% — 02| > ¢€)
K2 et f=F9i+0 (c>0 is constant)

< 2c € for all € > 0.
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